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CHARAKTERYSTYKA NARZEDZIA

Klucz dynamometryczny jest precyzyjnym instrumentem stosowanym do uzyskiwania
okreslonego momentu obrotowego. Stuzy do skrecania czesci ztacznych gwintowanych
tak, aby moment obrotowy potaczenia byt znany i odpowiedni do rodzaju materiatu i wy-
trzymatosci $ruby i nakretki.

Zestawienie porownawcze momentéw w réznych jednostkach diugosci i sity:
1 kG*cm = 13,887 OZ*IN (uncja x cal)

1 kG*cm = 0,867 LB*IN (funt x cal)

1kG*m = 9,80665 N*m (Niuton x metr)

1kG*m = 7,233 LB*FT (funt x stopa)

1FT*LB = 12 LB*IN (funt x cal)

1dm*N = 14,16 OZ*IN (uncja x cal)

Indeks Rozmiar m’_"e“‘ obrotowy [“':'a"x] Dlugosé [mm]
YT-07670 6.3 mm; 14" 5 2 230- 240
YT07672 9,5 mm; 38" 10 60 285- 295
YT-07673 9,5 mm; 38" 10 120 390405
YT-07676 12,7 mm; 12 40 220 485- 505
YT-07677 12,7 mm; 12 ) 330 545~ 565
YT-07680 19 mm; 314" 100 500 585~ 605

OBSLUGA KLUCZA

Odblokowa¢ pokretto mikrometryczne ().

Pokretto mikrometryczne ustawic tak, aby ,0” na skali pokretta pokryto sie z pionowg linig
na ramieniu klucza (Il).

Pokretio mikrometryczne obraca¢ zgodnie z kierunkiem ruchu wskazéwek zegara, do mo-
mentu ustawienia zadanego momentu obrotowego. Zgdany moment obrotowy jest usta-
wiony w momencie, gdy podziatka na pokretle mikrometrycznym bedzie sig pokrywata z
pionowa linig na ramieniu klucza. (/1)

Nastepnie nalezy zablokowa¢ pokretto mikrometryczne (1V) oraz ustawi¢ odpowiedni kie-
runek obrotu grzechotki, po tym klucz jest gotowy do uzytku.

Na zabierak klucza nalezy natozy¢ odpowiednig nasadke. Podczas dokrecania osiggnie-
cie ustawionego momentu jest sygnalizowane przetamaniem sig¢ glowicy klucza. W przy-
padku wyczucia przetamania glowicy nalezy zaprzesta¢ dokrecania.

Uwaga! Nie wolno kontynuowa¢ dokrecania $rub po tym jak klucz zasygnalizuje nasta-
wiony moment obrotowy. Nalezy na to zwréci¢ szczegdlng uwage podczas dokrecania z
niewielkimi momentami.

Nie wolno nastawia¢ wartosci momentu spoza zakresu pomiarowego klucza.

Uwaga! Nie wolno stosowa¢, zadnych przediuzen klucza, w celu wydtuzenia ramienia, do
ktérego przyktadana jest sita. Na przyktad przez zastosowanie dodatkowej rury przedtu-
Zzajace).

PRZECHOWYWANIE KLUCZA

Jedli klucz nie bedzie uzywany przez diuzszy czas nalezy nastawi¢ minimalny zakres.

Nie nalezy wykreca¢ pokretta mikrometrycznego ponizej nastawy najnizszego momentu.

Klucz wolno czysci¢ jedynie sucha migkka bawetniang szmatka. Nie wolno uzywac ja-

kichkolwiek rozpuszczalnikéw, czy innych cieczy. Gdyz moga one wyptuka¢ smar, ktérym

fabrycznie jest nasmarowany mechanizm klucza.

Klucz jest wykalibrowany fabrycznie z doktadnoscig do +3% (CW) / £5% (CCW)

Do klucza dotgczono fabryczne $wiadectwo kalibracji klucza. Swiadectwo nalezy zacho-

wac, nie istnieje mozliwo$¢ wystawienia duplikatu zagubionego $wiadectwa kalibracii.
EN

TOOL CHARACTERISTICS

A torque wrench is a precision instrument used to obtain a specific torque. It is used to
screw threaded fasteners so that the torque of the connection is known and appropriate to
the type of material and the strength of the screw and nut.

Comparison of moments in various units of length and force:
1kg*cm = 13.887 OZ * IN (ounce x inch)

1kg “cm = 0.867 LB*IN (Ib x in)

1kG*m = 9.80665 N*m (Newton x meter)
1kg*m=7233LB*FT (b x ft)

1FT*LB = 12 LB*IN (Ib x inch)

1dm*N = 14.16 OZ*IN (ounce x inch)

Index Driver size Vi, Torque [Nm] Vax. Length [mm]
YT-07670 6,3 mm; 1/4” 5 25 230-240
YT-07672 9,5 mm; 3/8” 10 60 285-295
YT-07673 9,5 mm; 3/8” 10 120 390 - 405
YT-07676 12,7 mm; 1/2° 40 220 485 - 505
YT-07677 12,7 mm; 1/2° 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605

KEY OPERATION

Unlock the micrometer knob ().

Set the micrometer knob so that ,0” on the knob scale coincides with the vertical line on
the torque wrench arm (Il).

Turn the micrometer knob clockwise until the desired torque is set. The desired torque is
set when the scale on the micrometer dial coincides with the vertical line on the arm of
the torque wrench. (IIl)

Then lock the micrometer knob (V) and set the appropriate direction of ratchet rotation,
then the wrench is ready for use.

Place the appropriate socket on the torque wrench drive. During tightening, reaching the
set torque is signaled by the torque wrench head breaking. If you feel the head breaking,
stop tightening.

Attention! Do not continue tightening the bolts after the torque wrench indicates the set
torque. Pay special attention to this when tightening with small torques.

Do not set torque values outside the measuring range of the torque wrench.

Attention! No torque wrench extensions may be used to extend the arm to which the force
is applied. For example, by using an additional extension pipe.

KEY STORAGE

If the torque wrench will not be used for a long time, set it to the minimum range.

Do not turn the micrometer knob below the lowest torque setting.

The torque wrench may only be cleaned with a dry, soft cotton cloth. Do not use any sol-
vents or other liquids. Because they can wash out the grease that is used to lubricate the
torque wrench mechanism at the factory.

The torque wrench is factory calibrated to an accuracy of +3% (CW)/ +5% (CCW) .

The torque wrench comes with a factory wrench calibration certificate. The certificate must
be kept, it is not possible to issue a duplicate of a lost calibration certificate.

DE
WERKZEUGMERKMALE

Ein Drehmomentschliissel ist ein Prézisionsinstrument, mit dem ein bestimmtes Drehmo-
ment erreicht wird. Es wird zum Verschrauben von Verbindungselementen mit Gewinde
verwendet, sodass das Drehmoment der Verbindung bekannt ist und der Art des Materials
und der Festigkeit von Schraube und Mutter entspricht.

Vergleich von Momenten in verschiedenen Langen- und Krafteinheiten:
1kg*cm = 13,887 OZ * IN (Unze x Zoll)

1kg *cm = 0,867 LB*IN (Ib x in)

1kG*m = 9,80665 N*m (Newton x Meter)
1kg*m=7233LB*FT (b xft)

1FT*LB = 12 LB*IN (Ib x Zoll)

1dm*N = 14,16 OZ*IN (Unze x Zoll)

. . D Nm N
Index Treibergrofie Vindest L M]ax. Lange [mm]
YT-07670 6,3 mm; 1/4” 5 25 230-240
YT-07672 9,5 mm; 3/8” 10 60 285-295
YT-07673 9,5 mm; 3/8” 10 120 390 - 405
YT-07676 12,7 mm; 1/2° 40 220 485 - 505
YT-07677 12,7 mm; 1/2° 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605
SCHLUSSELBEDIENUNG

Entriegeln Sie den Mikrometerknopf (1).

Stellen Sie den Mikrometerknopf so ein, dass ,0" auf der Knopfskala mit der vertikalen
Linie auf dem Drehmomentschliisselarm (1l) Ubereinstimmt.

Drehen Sie den Mikrometerknopf im Uhrzeigersinn, bis das gewlinschte Drehmoment
eingestellt ist. Das gewiinschte Drehmoment ist eingestellt, wenn die Skala auf der Mi-
krometerskala mit der vertikalen Linie auf dem Arm des Drehmomentschlissels Giberein-

stimmt. (IIl)
Anschliefend den Mikrometerknopf (IV) verriegeln und die entsprechende Drehrichtung
der Ratsche einstellen, dann ist der Schraubenschlissel einsatzbereit.

Setzen Sie den passenden Steckschlisseleinsatz auf den Antrieb des Drehmoment-
schliissels. Beim Anziehen wird das Erreichen des eingestellten Drehmoments durch
Bruch des Drehmomentschllisselkopfes signalisiert. Wenn Sie spiiren, dass der Kopf
bricht, hdren Sie mit dem Anziehen auf.

Aufmerksamkeit! Ziehen Sie die Schrauben nicht weiter an, nachdem der Drehmoment-
schilissel das eingestellte Drehmoment anzeigt. Achten Sie beim Anziehen mit kleinen
Drehmomenten besonders darauf.

Stellen Sie keine Drehmomentwerte auBerhalb des Messbereichs des Drehmoment-
schliissels ein.

Aufmerksamkeit! Zur Verlangerung des Arms, auf den die Kraft ausgelbt wird, dirfen
keine Drehmomentschliisselverlangerungen verwendet werden. Beispielsweise durch den
Einsatz eines zusatzlichen Verlangerungsrohres.

SCHLUSSELAUFBEWAHRUNG

Wenn der Drehmomentschliissel ldngere Zeit nicht verwendet wird, stellen Sie ihn auf den
minimalen Bereich ein.

Drehen Sie den Mikrometerknopf nicht unter die niedrigste Drehmomenteinstellung.

Der Drehmomentschliissel darf nur mit einem trockenen, weichen Baumwolltuch gereinigt
werden. Verwenden Sie keine Losungsmittel oder andere Flissigkeiten. Denn sie kdnnen
das Fett auswaschen, das werkseitig zur Schmierung des Drehmomentschliisselmecha-
nismus verwendet wird.

Der Drehmomentschliissel ist werkseitig auf eine Genauigkeit von +3% (CW) / 5%
(CCW) kalibriert .

Dem Drehmomentschliissel liegt ein werkseitiges Schiisselkalibrierungszertifikat bei. Das
Zertifikat ist aufzubewahren, die Ausstellung eines Duplikats eines verlorenen Kalibrier-
zertifikates ist nicht moglich.

RU
XAPAKTEPUCTUKN UHCTPYMEHTA

JIMHaMOMETPUYECKNIA KIHOY — 3TO MPELIM3NOHHBIA MHCTPYMEHT, UCTIONb3yeMbilt ANS Mofny-
YeHWst OMPELENEHHOTO KPYTALLEro MOMeHTa. OH MCMOMb3yeTCs ANS 3aBUHYNBAHNS PE3b-
BOBbIX KpENNEHWI TaK, 4ToBbI MOMEHT COEAMHEHNS BbiN U3BECTEH 1 COOTBETCTBOBAN TUMY
Marepuana 1 NPOYHOCTY BUHTA U Faifku.

CpaBHeH\e MOMEHTOB B Pa3fIYHbIX eAMHULAX AMAHbI 1 CAMbI:
1kr* cm = 13,887 yHUMI * AoiM (YHLNS X [0iM)

1k *cm = 0,867 cpyHT*At0iM (CDYHT X Atoiim)

1k™m = 9,80665 H*M (HbtoToH X MeTp)

1kr* M =17,233 dyHTa * chyTa (CyHT X cyT)

1 hyT*eyHT = 12 hyHTOB*AONM (CDYHT X Atoiim)

1aM*H = 14,16 yHUWIA*atoiM (YHUWS X AloiiM)

Pa3sme KpyTauwmit momeHT [ Hm ]

Wrgexe npaﬁse;a M:H. Matc. Anusa (v
YT-07670 6,3 mm; 1/4 5 25 230 -240
YT-07672 9,5 mm; 3/8" 10 60 285-295
YT-07673 9,5 mm; 3/8" 10 120 390 - 405
YT-07676 12,7 mm; 112" 40 220 485 - 505
YT-07677 12,7 mm; 112" 60 330 545 - 565
YT-07680 19 mm; 3/4" 100 500 585 - 605

KNIOYEBAS OMEPALINA

PasbrokupyiiTe pyuky Mukpometpa (1).

YCTaHOBUTE Py4Ky MUKPOMETPA Tak, YToBbl «0» Ha Lukane py4kv COBNaaano ¢ BepTukans-
HOIA NIMHVEN Ha pblvare AnHamomeTpideckoro kmtoya (11).

lMoBopaumBaliTe pyuKy MMKpOMETPa No YacoBoil CTPerke Ao Tex Nop, noka He byaeT ycTa-
HOBEH Xenaemblii KpyTALLMA MOMEHT. TpebyeMmbli KpyTALLMIA MOMEHT YCTaHaBNMBAETCS,
Korda Lukana Ha undepbnare MUKpOMETPa COBMNAAAET C BEPTUKAMbHON NNHMEN Ha pblya-
re AnHamomeTpuyeckoro kntova. (1)

3atem 3adpukeupyiite pyyky Mukpometpa (IV) u ycTaHoBUTE COOTBETCTBYHOLLEE Hanpas-
TeHIe BPaLLEHs XPanoBOro MexaHama, Nocne Yero Koy roToB K MCMOMb3oBaHuio.

YcTaHoBUTE MOAXOASALLYIO FOMOBKY Ha MPUBOA AMHAMOMETpuyeckoro kntoya. O mgocTu-
KEHUW 3a[JaHHOTO KPYTAILLEr0 MOMEHTA BO BPEMS 3aTshkKM CUTHANM3VPYET paspyLueHine
TONOBKYM ANHAMOMETPUYECKOTO Krtoya. ECnn BbI HyBCTBYETE, YTO rooBa IOMaeTcs, npe-
KpaTuTe 3aTArmBatb.

BHumanue! He npopomnxaiite 3atarueath 6onThl nocne Toro, kak AMHAMOMETPUYECKUI
KoY MOKaxeT 3adaHHbIA KpyTALLMA MomeHT. OBpatute Ha 3ato ocoboe BHUMaHWe npy
3aTSKKE C MarbiMv MOMEHTaMY.

He ycTaHaBnuBaliTe 3Ha4eHIst KpyTALLEro MOMEHTa 3a NpeAenami ananasoHa uamepe-
HUS! IMHAMOMETPUYECKOTO KIioua.

BHumaHue! ins yanuHeHNs pyku, K KOTOPOIA NpunaraeTcsi cuna, Hemb3s UCnonb3oBaTh
YAMHATEN SMHAMOMETPUYECKUX Krloyeit. Hanpumep, ¢ NOMOLLbIO JOMONHUTENBHOI YA~
TMHUTENBHOI TPyObI.

XPAHEHVE KITHOYEN

Ecnv auHamomeTpuyeckuii kntod He ByeT MCnonb3oBaThCs B TeYEHNE ANUTENbHOMO Bpe-
MEHMU, YCTAHOBUTE €0 HA MUHUMATTbHIIA A1anasoH.

He noBopaunBaiiTe pyyky MUKPOMETPA HIKE MUHUMAMBHOTO 3HAYEHUS KPYTALLEro MO-
MeHTa.

[InHaMoMeTpU4EeCKiA KoY MOXKHO YMCTUTL TOMBKO CYXOW MSITKOM XmonyatobymaxHo
TkaHblo. He ucnonb3yitTe pacTBOpUTENM UMK pyrue XuakocTh. NMoToMy YTO OHU MoryT
BbIMbITb CMa3Ky, KOTOPOIA CMa3blBaOT MEXaHW3M AMHAMOMETPUYECKOTO KITKYa Ha 3aBOfe.
[inHamomeTpuyeckuit kniod kanubpyeTcst Ha 3aBofie € TOYHOCTbO 3% (CW) / £5% (CCW)

[IMHaMOMETPUYECKUI KITK NOCTABASIETCS C 3aBOACKAM CepTUcMKaTOM Kannbposku. Cep-
TUdpMKAT HEOBXOAMMO COXPaHUTL, BLIAATb Ay6IMKaT YTEepSHHOTO CepTUdMKkaTa kanubpos-
K HEBO3MOXKHO.

UA
XAPAKTEPUCTUKW IHCTPYMEHTY

[IMHaMOMETPUYHIMA KMo - Lie TOYHWIA IHCTPYMEHT, KWV BUKOPUCTOBYETLCS ANs OTPU-
MaHHS! NEBHOTO KPYTHOTO MOMEHTY. BUKOPUCTOBYETHCA ANS 3arBUHYYBaHHS Pi3bOoBIX
KpinunbHUX AeTaned, Wob KpyTHUA MOMEHT 3'efHaHHs GyB BijOMUM i Bignosigas Tuny
matepiany Ta MiLHOCTi FBUHTa Ta raiiki.

[MopiBHSHHS MOMEHTIB B PI3HINX OQMHMLISX LOBXWHM | CUNK:
1kr*cm = 13,887 OZ * IN (yHuist x Atoitm)

1kr* cm = 0,867 chyHTiB * Atoiim (CyHT X [toiim)

1 k™M = 9,80665 H*m (HbtoToH X MeTp)

1kr* M =7,233 pyHTiB * ByTiB (yHTIB X pyTiB)

1 chyT*eyHT = 12 yHTIB*At0IM (PYHT X At01M)

1dm*N = 14,16 OZ*IN (yHuist x Atoiim)

bitu zinams un atbilsto$s materiala veidam un skriives un uzgriezna stiprumam.

- - Momentu salidzinajums dazadas garuma un spéka vienibas:
Ingexc Poawip Kpyrhui wower [ Hu] I ] Tkg * om = 13,887 OZ * IN (unce x colla)
Apaitsepa Xe. Mage. 1kg*cm=0,867 LB * IN (Ib x collas)

YT-07670 6,3 mm; 1/4” 5 25 230-240 1kG*m = 9,80665 N*m (ndtons x metrs)

YT-07672 9,5 mm; 3/8" 10 60 285-295 1kg*m=7233LB*FT (Ib x p&das)

YT-07673 9,5 mm; 3/8” 10 120 390 - 405 1FT*LB = 12 LB*IN (Ib x collas)

YT-07676 12,7 mm; 112 40 220 485-505 1dm*N = 14,16 OZ*IN (unce x colla)

YT-07677 12,7 mm; 1/2" 60 330 545 - 565

YT-07680 19 mm; 34 100 500 585605 Raditsjs | Vaditaja izmérs (:A'i':zes [’:a";sl Garums [mm]
KMOHOBA ONEPALIA YT-07670 6,3 mm; 1/4” 5 25 230-240
PoabriokyiiTe pyuky Mikpometpa (1). YT-07672 9,5 mm; 3/8" 10 60 285 - 295
BcTaHoBITb pyuky MikpoMeTpa TaK, o6 «O» Ha Lwkani pyykv 36irascst 3 BEPTUKaNbHOW YT-07673 9,5 mm; 3/8" 10 120 390 - 405
TNiHiet0 Ha Nnevi AnHaMoMeTpuyHoro kriova (11). YT-07676 12,7 mm; 112" 40 220 485 - 505
MoBepraiite py4ky MikpoMeTpa 3a roAUHHUKOBOK CTPINKOIO, AOKM He Byae BCTaHOBMEHO YT-07677 12,7 mm; 112" 60 330 545 - 565
NOTPIBHMI KDYTHNIA MOMEHT. BaaHwit KpyTHINIA MOMEHT BCTAHOBMIOETHCA, KON LKana Ha YT-07680 19 mm:; 3/4" 100 500 585 - 605
Umchepbnarti MikpomeTpa 36iraeTbesl 3 BEpTUKanbHOK NiHiEtD Ha nnevi AMHaMOMeTpUYHOro - -
krioya. (IIf) GALVENA DARBIBA

Morim 3acpikcyitte pyuky Mikpometpa (IV) i BCTaHOBITb BiBNOBiAHKIA HAaNpsiMOk 0bepTaHHs
XpanoBuka, TOAi raikoBui KN4 roTOBUA A0 BUKOPUCTAHHS.

BcTaHoBiTb BiANoBIAHE rHI3A0 Ha NPUBIA AMHAMOMETPUYHOTO Kntoya. [if yac 3aTaryBaHHs
[DOCSITHEHHS! BCTAHOBMEHOTO KPYTHOTO MOMEHTY CUrHari3yeThCst TaMaHHsIM rofioBKM AUHa-
MOMETPUYHOTO Krioya. SAKLLO BifYyeTe, LLO ronoBKka NamMaeTbCs, NMPUMIHITh 3aTAryBaHHS.
Yearal He npopoBy¥ite 3atsiryBaTvt 60nTv nicnsi Toro, sik AMHAMOMETPUYHMIA KITOY BKaXe
BCTAHOBMEHWI KPYTHIA MOMEHT. 3BepTaliTe Ha Lie 0cobnuBy yBary nig yac 3ataryBaHHs 3
Man1mMi MOMEHTaMI 3aTsiryBaHHs!.

He BCTaHOBMIOITE 3HAYEHHS KPYTHOTO MOMEHTY 32 MEXaMu JjanasoHy BUMIpIOBAHHS K-
HaMOMETPUYHOTO Krlioya.

Ygaral He MoXHa BMKOpUCTOBYBATU NMOAOBXKYBaYi AMHAMOMETPUYHUX KITHOMIB, LG BATSI-
HYTW PYKY, O SIKOi NpuKnajeHo cuny. Hanpuknag, 3a AONOMOrow [OAATKOBOI NOAOBXKY-
BanbHOi Tpy6u.

3BEPITAHHA KIIOYIB

AKWO AMHAMOMETPUYHMIA KNtoy He Byde BUKOPUCTOBYBATMCS NMPOTArOM TPMBANONO Yacy,
BCTAHOBITb 110r0 Ha MiHiMarbHWiA fiana3oH.

He noBepraitTe pyuky MIKpOMETPa HIMKYE HaNHKYOTO 3HAYEHHS KDYTHOTO MOMEHTY.
[INHaMOMETPUYHMIA KIIOY MOXHA YMCTUTU MLLIE CYXOK0 M'SIKOKO BABOBHSHOK TKAHWHOH.
He BUKOPUCTOBYIATE XOAHNX PO3YMHHIKIB YU IHLLMX PiAKH. TOMY LLO BOHW MOXYTb BUMUTY
MacTimo, kUM Ha 3aBOfi 3MaLLyloTb MeXaHi3M ANHaMOMETPUYHOTO Kiloya.
[TIMHaMOMeTpUYHWIA KMoy BiakanibposaHuii Ha 3aBopi 3 TouHicTio £3% (CW) /£5% (CCW).
[IMHaMOMETPUYHIIA KNKOY NOCTAYaETLCA i3 3aBOACHKUM CepTUiKaTOM KanibpyBaHHs! Kiio-
ya. CBinouTBO HeobxigHo 36epiraTv, BugaT1 Ay6nikar BTpaYeHoro cBifoLTBa nNpo Kani-
OpyBaHHs He MOXHa.

LT
|RANKIY CHARAKTERISTIKOS

Sukimo momento verZliaraktis yra tikslus instrumentas, naudojamas konkreciam sukimo
momentui gauti. Jis naudojamas srieginéms tvirtinimo detaléms prisukti, kad jungties su-
kimo momentas bty Zinomas ir atitikty medziagos tipg bei varZto ir verzlés stipruma.

Momenty palyginimas jvairiais ilgio ir jégos vienetais:
1kg *cm=13,887 OZ * IN (uncija x colis)

1kg *cm = 0,867 LB*IN (Ib x coliy)

1kG*m = 9,80665 N*m (niutonas x metras)
1kg*m=7,233 LB * FT (Ib x pédos)

1FT*LB = 12 LB*IN (b x colis)

1dm*N = 14,16 OZ*IN (uncija x colis)

Atblokgjiet mikrometra pogu (1).

lestatiet mikrometra pogu ta, lai ,0” uz pogas skalas sakristu ar vertikalo [iniju uz griezes
momenta atslégas sviras (Il).

Pagrieziet mikrometra pogu pulkstenraditaja virzien, lidz ir iestatits vélamais griezes mo-
ments. Vélamais griezes moments tiek iestatits, kad skala uz mikrometra skalas sakit ar
vertikalo liniju uz griezes momenta atslégas sviras. (1ll)

Péc tam nofiks&jiet mikrometra pogu (IV) un iestatiet atbilstoSu spridrata grie$anas virzie-
nu, tad uzgrieZnu atsléga ir gatava lietoSanai.

Novietojiet atbilstoSo ligzdu uz griezes momenta atslégas piedzinas. Pievilksanas laika
par iestatita griezes momenta sasnieg$anu signalizé griezes momenta atslégas galvas
noludana. Ja jutat, ka galva lst, partrauciet pievilkt.

Uzmanibu! Neturpiniet pievilkt skrives péc tam, kad griezes momenta atsléga rada ies-
tatito griezes momentu. PievérSot tam paSu uzmanibu, pievelkot ar maziem griezes mo-
mentiem.

Neiestatiet griezes momenta vértibas arpus griezes momenta atslégas mérisanas dia-
pazona.

Uzmanibu! Nedrikst izmantot griezes momenta uzgrieznu atslégas pagarinajumus, lai
pagarinatu sviru, kurai tiek pielikts speks. Pieméram, izmantojot papildu pagarinajuma
cauruli.

ATSLEGU GLABASANA

Ja dinamometriska uzgrieZnu atsléga netiks lietota ilgu laiku, iestatiet to uz minimalo dia-
pazonu.

Negrieziet mikrometra pogu zem zemaka griezes momenta iestatijuma.

Momenta uzgrieznu atslégu drikst tirit tikai ar sausu, mikstu kokvilnas dranu. Neizmanto-
tota griezes momenta atslegas mehanisma ello3anai.

Griezes momenta atsléga rpnica ir kalibréta ar precizitati +3% (CW) / £5% (CCW) .
Griezes momenta atslégai ir pievienots riipnicas uzgrieZnu atslégas kalibréSanas serti-
fikats. Sertifikats ir jasaglaba, nav iespéjams izsniegt nozaudéta kalibré$anas sertifikata
dublikatu.

cz
CHARAKTERISTIKA NASTROJE

Momentovy Kli¢ je pfesny nastroj pouzivany k ziskani specifického togivého momentu.
PouZiva se k Sroubovani spojovacich prvki se zavitem tak, aby kroutici moment spoje byl
zndmy a pfiméfeny typu materialu a pevnosti Sroubu a matice.

Porovnani momentt v riznych jednotkach délky a sily:
1kg*cm = 13,887 OZ * IN (unce x palec)

Indeksas Vairuotojo dydis SJklmo [MNT] ligis [mm] 1kg *cm = 0,867 LBIN (Ib x palec)
in. aKs. 1kG*m = 9,80665 N*m (Newton x metr)

YT-07670 6,3 mm; 1/4” 5 25 230 -240 1kg*m=7,233LB*FT (Ib x ft)

YT-07672 9,5 mm; 3/8” 10 60 285-295 1FT*LB = 12 LB*IN (Ib x palec)

YT-07673 9,5 mm; 3/8" 10 120 390 - 405 1dm*N = 14,16 OZ*IN (unce x palec)

YT-07676 12,7 mm; 1/2" 40 220 485 - 505

YT-07677 12,7 mm; 1/2" 60 330 545 - 565 Velikost ovla- Tocivy moment [Nm ] .

YT07680 19 mm; 314" 100 500 585 - 605 Index dace Wi, Max. Délka [mm]
PAGRINDINIS DARBAS YT-07670 6,3 mm; 1/4 5 25 230 - 240

YT-07672 9,5 mm; 3/8” 10 60 285-295

Atrakinkite mikrometro rankenéle (1). YT-07673 9,5 mm; 3/8" 10 120 390 - 405
Nustatykite mikrometro rankenéle taip, kad ,0” rankenélés skaléje sutapty su vertikalia YT-07676 12,7 mm; 112" 40 220 485 - 505
linija ant sukimo momento verZliarakgio svirties (I1). YT-07677 12,7 mm: 112" 60 330 545 — 565
Sukite mikrometro rankenéle pagal laikrodZio rodykle, kol bus nustatytas norimas sukimo YT-07680 19 mm; 314" 100 500 585 - 605
momentas. Norimas sukimo momentas nustatomas, kai skalé ant mikrometro ciferblato .
sutampa su vertikalia linija ant sukimo momento verzZliarakgio svirties. (1ll) KLICOVA OBSLUHA

Tada uzfiksuokite mikrometro rankenéle (IV) ir nustatykite tinkama reketo sukimosi kryptj,
tada raktas bus paruostas naudoti.

Ant sukimo momento verZliarakéio pavaros uzdékite atitinkamg lizdg. Priverzimo metu
apie nustatyto sukimo momento pasiekima signalizuoja sukimo momento verZliarak¢io
galvutés lazimas. Jei jauciate, kad galva ldzta, nustokite verzti.

Démesio! NeverZkite varzty po to, kai sukimo momento raktas parodo nustatytg sukimo
momenta. Atkreipkite ypatinga démesj | tai priverzdami nedideliais sukimo momentais.
Nenustatykite sukimo momento verciy uz sukimo momento verzZliarakéio matavimo dia-
pazono riby.

Démesio! Jokie dinamometrinio verZliarakéio ilgintuvai negali biti naudojami svirties, ku-
riai taikoma jéga, iStiesimui. PavyzdZiui, naudojant papildoma ilginamajj vamzdj.

RAKTY SAUGOJIMAS

Jei sukimo momento raktas nebus naudojamas ilgg laika, nustatykite jj j minimaly dia-
pazong.

Nesukite mikrometro rankenélés Zemiau Zemiausio sukimo momento nustatymo.
Sukamojo momento verZliaraktj galima valyti tik sausu, mink$tu medvilniniu audiniu. Ne-
naudokite jokiy tirpikliy ar kity skysciy. Nes jie gali iSplauti tepala, kuriuo gamykloje sute-
pamas sukimo momento verZliarakéio mechanizmas.

+3% (CW) / £5% (CCW) tikslumu .

Sukamojo momento raktas yra su gamykliniu verZliarakgio kalibravimo sertifikatu. Pazyma
turi bati saugoma, pamesto kalibravimo pazyméjimo dublikato i$duoti negalima.

Lv
RIKA RAKSTUROJUMS

Griezes momenta atsléga ir precizs instruments, ko izmanto, lai iegdtu noteiktu griezes
momentu. To izmanto vitnotu stiprinajumu skriivé$anai, lai savienojuma griezes moments

Odijistéte knoflik mikrometru ().

Nastavte knoflik mikrometru tak, aby se ,0” na stupnici knofliku shodovala se svislou ¢arou
na rameni momentového klice (Il).

Otécejte knoflikem mikrometru ve sméru hodinovych ruicek, dokud nenastavite poza-
dovany to¢ivy moment. PoZadovany kroutici moment je nastaven, kdyz se stupnice na
¢iselniku mikrometru shoduje se svislou ryskou na rameni momentového klice. (1ll)

Poté zajistéte knoflik mikrometru (IV) a nastavte pfislusny smér otaceni racny, poté je klic
pipraven k pouziti.

Umistéte pfislusnou zasuvku na pohon momentového klice. Pfi utahovani je dosaZeni
nastaveného momentu signalizovano prasknutim hlavy momentového klice. Pokud citite,
Ze se hlava lame, prestante utahovat.

Pozornost! Nepokracujte v utahovani Sroubli poté, co momentovy kli¢ ukaZe nastaveny
utahovaci moment. Vénujte tomu zvlaStni pozornost pfi utahovani malymi momenty.
Nenastavujte hodnoty to¢ivého momentu mimo rozsah méfeni momentového klice.
Pozornost! K prodlouzeni ramene, na které plisobi sila, nesmi byt pouzity Zadné nastavce
momentového klice. Napfiklad pomoci dodate¢né prodluzovaci trubky.

ULOZENI KLICE

Pokud momentovy kli¢ nebudete delSi dobu pouZivat, nastavte jej na minimaini rozsah.
Momentovy Kli¢ Ize Cistit pouze suchym mékkym bavinénym hadfikem. NepouZivejte
z4dna rozpoustédla ani jiné kapaliny. ProtoZe mohou vymyt mazivo, které se pouZiva k
mazani mechanismu momentového klice ve vyrobé.

Momentovy KIi¢ je z vyroby kalibrovén s presnosti 3% (CW) / £5% (CCW) .

Momentovy Kli¢ je dodavan s tovarnim kalibracnim certifikatem klice. Certifikat je nutné
uschovat, nelze vystavit duplikt ztraceného kalibracniho listu.



SK
CHARAKTERISTIKA NASTROJA

Momentovy kIU¢ je presny nastroj pouZivany na ziskanie Specifického kritiaceho momen-
tu. PouZiva sa na skrutkovanie spojovacich prvkov so zavitom tak, aby bol krutiaci moment
spojenia zndmy a primerany druhu materialu a pevnosti skrutky a matice.

Porovnanie momentov v réznych jednotkach dizky a sily:
1kg*cm=13,887 OZ * IN (unca x palec)

1 kg *cm = 0,867 LB*IN (Ib x palec)

1kG*m = 9,80665 N*m (Newton x meter)
1kg*m=7233LB*FT (Ibxft)

1 FT*LB = 12 LB*IN (Ib x palec)

1dm*N = 14,16 OZ*IN (unca x palec)

kell 8rizni, elveszett kalibracids bizonyitvany masodlatat nem lehet kiallitani.
RO
CARACTERISTICI UNELE

O cheie dinamometrica este un instrument de precizie folosit pentru a obtine un cuplu
specific. Este folosit pentru insurubarea elementelor de fixare filetate, astfel incét cuplul
de strangere al conexiunii sa fie cunoscut si adecvat tipului de material si rezistentei su-
rubului si piulitei.

Comparatia momentelor in diferite unitati de lungime si forta:
1kg *cm = 13,887 OZ * IN (uncie x inci)

1 kg *em = 0,867 LB*IN (Ib x in)

1kG*m = 9,80665 N*m (Newton x metru)
1kg*m=7,233LB*FT (b xft)

1FT*LB = 12 LB*IN (Ib x inch)

Velkost ovla- Kratiaci moment [ Nm | - 1dm*N = 14,16 OZ*IN (uncie x inci)
Index daca Vi, Viax. Dizka [mm]

YT-07670 6,3 mm; 1/4” 5 25 230-240 Index Di i Cuplu[Nm] Lungime [mm]

YT-07672 9,5 mm; 3/8” 10 60 285-295 driverului Min. Max. 9

YT-07673 9,5 mm; 3/8" 10 120 390 - 405 YT-07670 6,3 mm; 1/4” 5 25 230-240

YT-07676 12,7 mm; 1/2" 40 220 485 - 505 YT-07672 9,5 mm; 3/8” 10 60 285-295

YT-07677 12,7 mm; 1/2" 60 330 545 - 565 YT-07673 9,5 mm; 3/8” 10 120 390 - 405

YT-07680 19 mm; 34" 100 500 585 - 605 YT-07676 12,7 mm; 1/2" 40 220 485505

WA A A ‘ YT-07677 12,7 mm; 1/2" 60 330 545 - 565

KLUCOVA PREVADZKA YT-07680 19 mm; 3/4" 100 500 585 - 605
Odblokujte gombik mikrometra (1). OPERARE CHEIE

Nastavte gombik mikrometra tak, aby sa ,0” na stupnici gombika zhodovala s vertikélnou
¢iarou na ramene momentového kltca (Il).

Otécajte gombikom mikrometra v smere hodinovych ruciciek, kym sa nenastavi poZado-
vany kratiaci moment. Pozadovany kratiaci moment sa nastavi, ked sa stupnica na &iselni-
ku mikrometra zhoduje so zvislou ¢iarou na ramene momentového kltuca. (I11)

Potom zaistite gombik mikrometra (V) a nastavte prisludny smer otacania racne, potom
je kIU¢ pripraveny na pouZitie.

Umiestnite prisludnd objimku na pohon momentového klt¢a. Pri dotahovani je dosiah-
nutie nastaveného krdtiaceno momentu signalizované prasknutim hlavy momentového
kluca. Ak citite, Ze sa hlava lame, prestarite utahovat.

Pozor! Nepokracujte v utahovani skrutiek, ked momentovy kIU¢ ukaze nastaveny kritiaci
moment. Pri utahovani malymi kratiacimi momentmi venujte zvl$tnu pozornost tomu.
Nenastavujte hodnoty kritiaceho momentu mimo meracieho rozsahu momentového kfd-
¢a.

Pozor! Na prediZenie ramena, na ktoré pdsobi sila, sa nesmu pouzit Ziadne predizenia
momentového kli¢a. Napriklad pomocou dodatocného predlZzovacieho potrubia.

ULOZENIE KLUCOV

Ak momentovy klU¢ nebudete dIhi ¢as pouzivat, nastavte ho na miniméiny rozsah.
Neotacajte gombikom mikrometra pod najnizSie nastavenie kratiaceho momentu.
Momentovy kiu¢ mozno Eistit iba suchou, méakkou bavinenou handri¢kou. Nepouzivajte
Ziadne rozpustadla ani iné tekutiny. Pretoze mdZu vymyt mazivo, ktoré sa pouziva na
mazanie mechanizmu momentového kli¢a vo vyrobe.
Momentovy kIU¢ je z vyroby kalibrovany s presnostou 3% (CW) / +5% (CCW) .
Momentovy klU¢ sa dodava s vyrobnym certifikdtom o kalibracii kftuca. Certifikat je potreb-
né uschovat, nie je mozné vydat duplikat strateného kalibracného listu.

HU

SZERSZAM JELLEMZOI

A nyomatékkulcs egy precizids miiszer, amelyet meghatérozott nyomaték elérésére hasz-
nalnak. Menetes kotéelemek csavarozasara szolgal ugy, hogy a csatlakozas nyomatéka
ismert és megfeleljen az anyag tipusanak, valamint a csavar és anya szilardsaganak.

A nyomatékok 6sszehasonlitasa kilonbdzo hossz- és erdegységekben:
1kg * cm = 13,887 OZ * N (uncia x hiivelyk)

1 kg *cm = 0,867 LB*IN (Ib x hivelyk)

1kG*m = 9,80665 N*m (Newton x méter)

1kg*m=7,233LB *1ab (Ib x lab)

1FT*LB = 12 LB*IN (Ib x hiivelyk)

1dm*N = 14,16 OZ*IN (uncia x hiivelyk)

Index Vezeté mérete - Nyomaték [Nm] Hossz [mm]
Min. Max.
YT-07670 6,3 mm; 1/4” 5 25 230 -240
YT-07672 9,5 mm; 3/8” 10 60 285-295
YT-07673 9,5 mm; 3/8" 10 120 390 - 405
YT-07676 12,7 mm; 1/2" 40 220 485 - 505
YT-07677 12,7 mm; 1/2" 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605
KULCSMUVELET

Oldja ki a mikrométer gombjét (1).

Allitsa be a mikrométer gombjat tgy, hogy a gomb skalajan 1évé «0» egybeessen a nyo-
matékkulcs karon (1) 1év6 fiiggdleges vonallal.

Forgassa el a mikrométer gombot az éramutatd jarasaval megegyezé iranyba, amig a ki-
vant nyomatékot be nem dllitja. A kivant nyomaték beallitasa akkor torténik, ha a mikromé-
ter tarcsan 1évé skala egybeesik a nyomatékkulcs karjan lévé fiiggéleges vonallal. (I11)
Ezutén zérja le a mikrométer gombjat (IV) és éllitsa be a racsnis forgasiranyanak megfe-
lel iranyat, ekkor a csavarkulcs hasznéalatra kész.

Helyezze a megfeleld aljzatot a nyomatékkulcs-meghajtéra. A meghizés soran a beallitott
nyomaték elérését a nyomatékkulcs fejének eltérése jelzi. Ha gy érzi, hogy eltdrik a fej,
hagyja abba a szoritast.

Figyelem! Ne folytassa a csavarok meghuzasat, miutan a nyomatékkulcs a bedllitott nyo-
matékot jelzi. Kis nyomatékkal torténé meghtzasnal erre killondsen tigyeljen.

Ne éallitsa be a nyomatékértékeket a nyomatékkulcs mérési tartomanyan kivilre.
Figyelem! Nem hasznalhaté nyomatékkulcs-hosszabbitas annak a karnak a meghosszab-
bitdsahoz, amelyre az erét kifejtik. Példaul egy tovabbi hosszabbitd csd hasznalataval.

KULCS TAROLASA

Ha a nyomatékkulcsot hosszabb ideig nem hasznalja, allitsa a minimalis tartomanyra.

Ne forgassa a mikrométer gombjat a legalacsonyabb nyomatékérték ala.

A nyomatékkulcsot csak szaraz, puha pamutkendével szabad tisztitani. Ne hasznaljon
oldészert vagy mas folyadékot. Mert ki tudjak mosni a zsirt, amivel gyarilag kenik a nyo-
matékkulcs mechanizmust.

+3% (CW) / £5% (CCW) -os pontosséaggal van kalibralva .

Anyomatékkulcshoz gyari csavarkulcs kalibracios tanusitvany tartozik. A tansitvanyt meg

Deblocati butonul micrometrului ().

Setati butonul micrometrului astfel incat ,0” de pe scara butonului s& coincidé cu linia
verticald de pe bratul cheii dinamometrice (l1).

Rotiti butonul micrometrului in sensul acelor de ceasornic pana cand este setat cuplul
dorit. Cuplul dorit este setat atunci cand scala de pe cadranul micrometrului coincide cu
linia verticald de pe bratul cheii dinamometrice. (lIf)

Apoi blocati butonul micrometrului (IV) si setati directia corespunzatoare de rotatie a cli-
chetului, apoi cheia este gata de utilizare.

Asezati priza corespunzatoare pe antrenarea cheii dinamometrice. In timpul strangerii,
atingerea cuplului setat este semnalatd de ruperea capului cheii dinamometrice. Daca
simtiti c& se rupe capul, nu mai strangeti.

Atentie! Nu continuati sa strangeti suruburile dupa ce cheia dinamometrica indica cuplul
setat. Acordati o atentie deosebita acestui lucru atunci cand strangeti cu cupluri mici.

Nu setati valori de cuplu T afara domeniului de masurare al cheii dinamometrice.
Atentie! Nu se pot folosi extensii de cheie dinamometrica pentru a extinde bratul la care se
aplica forta. De exemplu, prin utilizarea unei conducte suplimentare de prelungire.

DEPOZITARE CHEIE

Daca cheia dinamometrica nu va fi folositd o perioada lunga de timp, setati-o la intervalul
minim.

Nu rotiti butonul micrometrului sub cea mai micé setare a cuplului.

Cheia dinamometricd poate fi curdtata numai cu o carpa din bumbac moale si uscata. Nu
utilizati solventi sau alte lichide. Deoarece pot spéla din fabrica grasimea care este folosita
pentru a lubrifia mecanismul cheii dinamometrice.

Cheia dinamometricd este calibrata din fabrica cu o precizie de +3% (CW) / £5% (CCW) .
Cheia dinamometrica vine cu un certificat de calibrare a cheii din fabrica. Certificatul tre-
buie pastrat, nu este posibila eliberarea unui duplicat al unui certificat de calibrare pierdut.

ES
CARACTERISTICAS DE LAHERRAMIENTA

Una llave dinamométrica es un instrumento de precision que se utiliza para obtener un par
especifico. Se utiliza para atomillar elementos de fijacion roscados de modo que el par
de torsion de la conexion sea conocido y adecuado al tipo de material y a la resistencia
del tornillo y la tuerca.

Comparacién de momentos en varias unidades de longitud y fuerza:
1kg*cm = 13.887 OZ * IN (onza x pulgada)

1kg *cm = 0,867 LB*IN (libras x pulgadas)

1kG*m = 9,80665 N*m (Newton x metro)

1kg *m=7,233 libras * pies (libras x pies)

1 PIE*LB = 12 LB*IN (libras x pulgadas)

1dm*N = 14,16 OZ*IN (onza x pulgada)

indice ?;ﬂ:zg‘:l Wi Par [Nm] i Longitud [mm]
YT-07670 6,3 mm; 1/4” 5 25 230 - 240
YT-07672 9,5 mm; 3/8” 10 60 285-295
YT-07673 9,5 mm; 3/8” 10 120 390 - 405
YT-07676 12,7 mm; 1/2" 40 220 485 - 505
YT-07677 12,7 mm; 1/2" 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605

OPERACION CLAVE

Desbloquee la perilla micrométrica (1).

Coloque la perilla del micrémetro de modo que ,0” en la escala de la perilla coincida con
la linea vertical en el brazo de la llave dinamométrica (I1).

Gire la perilla del micrémetro en el sentido de las agujas del reloj hasta establecer el par
deseado. El par deseado se establece cuando la escala del dial micrométrico coincide con
la linea vertical del brazo de la llave dinamométrica. (iii)

Luego bloquee la perilla micrométrica (IV) y ajuste la direccién apropiada de rotacién del
trinquete, luego la llave estara lista para usar.

Coloque el casquillo apropiado en la unidad de la llave dinamométrica. Durante el apriete,
larotura del cabezal de la llave dinamométrica indica que se ha alcanzado el par ajustado.
Si siente que la cabeza se rompe, deje de apretar.

jAtencion! No continte apretando los pernos después de que la llave dinamométrica in-
dique el par establecido. Preste especial atencion a esto al apretar con pares pequefios.
No establezca valores de torque fuera del rango de medicion de la llave dinamométrica.
jAtencion! No se pueden utilizar extensiones de llave dinamométrica para extender el
brazo al que se aplica la fuerza. Por ejemplo, utilizando un tubo de extension adicional.

ALMACENAMIENTO DE LLAVES
Sino va a utilizar la llave dinamométrica durante un periodo prolongado, ajustela al rango

minimo.
No gire la perilla del micrémetro por debajo del ajuste de torsién mas bajo.

La llave dinamométrica s6lo se puede limpiar con un pafio de algodén suave y seco. No
utilice disolventes ni otros liquidos. Porque pueden eliminar la grasa que se utiliza para
lubricar el mecanismo de la llave dinamométrica en la fabrica.

La llave dinamométrica viene calibrada de fabrica con una precision de +3% (CW) /5% (CCW).
La llave dinamométrica viene con un certificado de calibracién de llave de fabrica. El
certificado debe conservarse, no es posible emitir un duplicado de un certificado de ca-
libracién perdido.

FR
CARACTERISTIQUES DE L'OUTIL

Une clé dynamométrique est un instrument de précision utilisé pour obtenir un couple
spécifique. Il est utilisé pour visser des fixations filetées afin que le couple de connexion
soit connu et adapté au type de matériau et a la résistance de la vis et de 'écrou.

Comparaison des moments dans différentes unités de longueur et de force :
1kg *cm = 13,887 OZ * IN (once x pouce)

1kg *cm = 0,867 LB*IN (Ib x po)

1kG*m = 9,80665 N*m (Newton x métre)

1kg*m=7233LB*FT (Ib x pi)

1FT*LB = 12 LB*IN (Ib x pouce)

1dm*N = 14,16 OZ*IN (once x pouce)

. . . Couple [Nm]

Indice Taille du pilote Vin. Viax. Ls [mm]
YT-07670 6,3 mm; 1/4” 5 25 230 - 240
YT-07672 9,5 mm; 3/8” 10 60 285 - 295
YT-07673 9,5 mm; 3/8” 10 120 390 - 405
YT-07676 12,7 mm; 1/2" 40 220 485 - 505
YT-07677 12,7 mm; 1/2" 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605

FONCTIONNEMENT CLE

Déverrouillez le bouton du micrometre (1).

Réglez le bouton du micrometre de maniere & ce que le « 0 » sur 'échelle du bouton
coincide avec la ligne verticale sur le bras de la clé dynamométrique (I1).

Tournez le bouton du micrometre dans le sens des aiguilles d’'une montre jusqu'a ce que
le couple souhaité soit réglé. Le couple souhaité est réglé lorsque I'échelle du cadran
micrométrique coincide avec la ligne verticale sur le bras de la clé dynamométrique. (1ll)
Verrouillez ensuite le bouton micrométrique (IV) et réglez le sens approprié de rotation du
cliquet, la clé est alors préte a 'emploi.

Placez la douille appropriée sur la clé dynamométrique. Lors du serrage, I'atteinte du
couple réglé est signalée par la rupture de la téte de la clé dynamométrique. Si vous
sentez la téte se casser, arrétez de serrer.

Attention! Ne continuez pas a serrer les boulons une fois que la clé dynamométrique a
indiqué le couple réglé. Faites particulierement attention & cela lors du serrage avec de
petits couples.

Ne réglez pas les valeurs de couple en dehors de la plage de mesure de la clé dynamo-
métrique.

Attention! Aucune rallonge de clé dynamométrique ne peut étre utilisée pour étendre le
bras sur lequel la force est appliquée. Par exemple, en utilisant une rallonge supplémen-
taire.

STOCKAGE DES CLES

Si la clé dynamométrique ne sera pas utilisée pendant une longue période, réglez-la sur
la plage minimale.

Ne tournez pas le bouton du micrometre en dessous du réglage de couple le plus bas.
La clé dynamométrique ne peut étre nettoyée qu'avec un chiffon en coton sec et doux.
N'utilisez aucun solvant ou autre liquide. Parce qu'ils peuvent éliminer la graisse utilisée
pour lubrifier le mécanisme de la clé dynamométrique en usine.

La clé dynamométrique est calibrée en usine avec une précision de 3% (CW)/ +5% (CCW).
La clé dynamométrique est livrée avec un certificat d'étalonnage de la clé en usine. Le
certificat doit &tre conservé, il n'est pas possible de délivrer un duplicata d’un certificat
d'étalonnage perdu.

T
CARATTERISTICHE DELL’'UTENSILE

Una chiave dinamometrica & uno strumento di precisione utilizzato per ottenere una cop-
pia specifica. Viene utilizzato per awvitare elementi di fissaggio filettati in modo che la
coppia di connessione sia nota e adeguata al tipo di materiale e alla resistenza della vite
e del dado.

Confronto dei momenti in varie unita di lunghezza e forza:
1kg *cm = 13,887 OZ * IN (oncia x pollice)

1kg *cm = 0,867 LB*IN (libbre x pollici)

1kG*m = 9,80665 N*m (Newton x metro)
1kg*m=7.233 LB * piedi (libbre x piedi)

1FT*LB = 12 LB*IN (libbre x pollici)

1dm*N = 14,16 OZ*IN (oncia x pollice)

i Di ioni del Coppia [Nm .

Indice conducente minimo Pl N]Iassimo. I [mm]
YT-07670 6,3 mm; 1/4" 5 25 230 - 240
YT-07672 9,5 mm; 3/8" 10 60 285-295
YT-07673 9,5 mm; 3/8" 10 120 390 - 405
YT-07676 12,7 mm; 1/2" 40 220 485 - 505
YT-07677 12,7 mm; 1/2" 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605

OPERAZIONE CHIAVE

Sbloccare la manopola del micrometro ().

Impostare la manopola micrometrica in modo che lo ,0” sulla scala della manopola coinci-
da con la linea verticale sul braccio della chiave dinamometrica (II).

Ruotare la manopola del micrometro in senso orario fino a impostare la coppia desiderata.
La coppia desiderata viene impostata quando la scala sul quadrante micrometrico coinci-
de con la linea verticale sul braccio della chiave dinamometrica. (Il

Quindi bloccare la manopola micrometrica (IV) e impostare la direzione appropriata di
rotazione del cricchetto, quindi la chiave & pronta per 'uso.

Posizionare la presa appropriata sull'azionamento della chiave dinamometrica. Durante
il serraggio il raggiungimento della coppia impostata & segnalato dalla rottura della testa
della chiave dinamometrica. Se senti che la testa si rompe, smetti di stringere.

Attenzione! Non continuare a serrare i bulloni dopo che la chiave dinamometrica ha in-
dicato la coppia impostata. Prestare particolare attenzione a questo quando si serra con

coppie piccole.

Non impostare valori di coppia fuori dal campo di misura della chiave dinamometrica.
Attenzione! Non & possibile utilizzare prolunghe per chiave dinamometrica per estende-
re il braccio a cui viene applicata la forza. Ad esempio, utilizzando un tubo di prolunga
aggiuntivo.

ARCHIVIAZIONE CHIAVI

Se si prevede di non utilizzare la chiave dinamometrica per un lungo periodo, impostarla
sulla portata minima.

Non ruotare la manopola del micrometro al di sotto dell'impostazione di coppia piti bassa.
La chiave dinamometrica puo essere pulita solo con un panno di cotone morbido e asciut-
to. Non utilizzare solventi o altri liquidi. Perché possono eliminare il grasso utilizzato in
fabbrica per lubrificare il meccanismo della chiave dinamometrica.

La chiave dinamometrica & calibrata in fabbrica con una precisione di 3% (CW)/ £5% (CCW) .
La chiave dinamometrica viene fornita con un certificato di calibrazione della chiave di
fabbrica. Il certificato deve essere conservato, non & possibile rilasciare duplicato del cer-
tificato di taratura smarrito.

NL
GEREEDSCHAPKENMERKEN

Een momentsleutel is een precisie-instrument dat wordt gebruikt om een specifiek koppel
te verkrijgen. Het wordt gebruikt voor het vastschroeven van bevestigingsmiddelen met
schroefdraad, zodat het koppel van de verbinding bekend is en geschikt is voor het type
materiaal en de sterkte van de schroef en moer.

Vergelijking van momenten in verschillende eenheden van lengte en kracht:
1kg *cm =13,887 OZ * IN (ounce x inch)

1kg *cm = 0,867 LB*IN (Ib x inch)

1kG*m = 9,80665 N*m (Newton x meter)

1kg*m=7,233 LB * FT (Ib x voet)

1FT*LB = 12 LB*IN (Ib x inch)

1dm*N = 14,16 OZ*IN (ounce x inch)

Grootte bestu- Koppel [ Nm
Inhoudsopgave urder Nin. ppel [Nm] Vix. Lengte [mm]
YT-07670 6,3 mm; 1/4” 5 25 230 - 240
YT-07672 9,5 mm; 3/8” 10 60 285 - 295
YT-07673 9,5 mm; 3/8” 10 120 390 - 405
YT-07676 12,7 mm; 1/2" 40 220 485 - 505
YT-07677 12,7 mm; 1/2" 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605
SLEUTELBEDIENING

Ontgrendel de micrometerknop (1).

Stel de micrometerknop zo in dat 0" op de knopschaal samenvalt met de verticale lijn op
de arm van de momentsleutel ().

Draai de micrometerknop met de klok mee totdat het gewenste koppel is ingesteld. Het
gewenste koppel is ingesteld als de schaalverdeling op de micrometerschijf samenvalt met
de verticale lijn op de arm van de momentsleutel. (Ill)

Vergrendel vervolgens de micrometerknop (IV) en stel de juiste draairichting van de ratel
in, waarna de sleutel klaar is voor gebruik.

Plaats de juiste dop op de momentsleutelaandrijving. Tijdens het aandraaien wordt het
bereiken van het ingestelde koppel aangegeven doordat de kop van de momentsleutel
breekt. Als u voelt dat de kop breekt, stop dan met aanspannen.

Aandacht! Ga niet verder met het aandraaien van de bouten nadat de momentsleutel het
ingestelde aanhaalmoment heeft aangegeven. Besteed hier speciale aandacht aan bij het
aandraaien met kleine aanhaalmomenten.

Stel geen momentwaarden in buiten het meetbereik van de momentsleutel.

Aandacht! Er mogen geen momentsleutelverlengstukken worden gebruikt om de arm waa-
rop de kracht wordt uitgeoefend te verlengen. Bijvoorbeeld door gebruik te maken van
een extra verlengbuis.

SLEUTELOPSLAG

Als de momentsleutel langere tijd niet wordt gebruikt, stelt u deze in op het minimale bereik.
Draai de micrometerknop niet onder de laagste draaimomentinstelling.

De momentsleutel mag alleen worden gereinigd met een droge, zachte katoenen doek.
Gebruik geen oplosmiddelen of andere vloeistoffen. Omdat ze het vet kunnen wegspoelen
dat in de fabriek wordt gebruikt om het momentsleutelmechanisme te smeren.

De momentsleutel is in de fabriek gekalibreerd met een nauwkeurigheid van +3% (CW)
/5% (CCW).

De momentsleutel wordt geleverd met een fabriekssleutelkalibratiecertificaat. Het certifi-
caat moet bewaard worden, het is niet mogelijk om een duplicaat van een verloren kali-
bratiecertificaat af te geven.

GR
XAPAKTHPIZTIKA EPTAAEIOY

To duvapdkAeido eival éva 6pyavo akpIBEIG TTOU XPNOIMOTIOIETaI IO TNV OTTOKTNON OU-
YKEKPIPEVNG POTITG. XpnaipoToleital yia To Bidwua Twv CUVIETApWY e OTIEpWHA, £T01
WATE N POTTF TNG GUVETNG Va Eival yVwaTH Kol KATGAANAN yia Tov 0110 Tou UNIKOU Kai TV
avtoxr TG Bidag kai Tou TagiuadioU.

L0yKpion potrwv o€ SIdpopeg Hovadeg prikoug kar d0vaung:
1kg*cm=13.887 OZ * IN (ouyyid x ivioa)

1kg *cm = 0,867 LB*IN (Ib x in)

1kG*m = 9,80665 N*m (Newton x pérpo)
1kg*m=7233LB*FT (Ibxft)

1FT*LB = 12 LB*IN (Ib x ivroa)

1dm*N = 14,16 OZ*IN (ouyyid x ivioa)

Méyeog Pomr [Nm ]
Acikmng Tpoypduparog - ) Mrikog [mm]
obhynong EAdy. Méyiomn.
YT-07670 6,3 mm; 1/4” 5 25 230 - 240
YT-07672 9,5 mm; 3/8" 10 60 285-295
YT-07673 9,5 mm; 3/8" 10 120 390 - 405
YT-07676 12,7 mm; 1/2" 40 220 485 - 505
YT-07677 12,7 mm; 1/2" 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605
BAZIKH AEITOYPTIA

ZekAeIBWOTE TO KOUTT TOU MIKPOPETPOU ().
PuBpioTe 10 KOUPTTT TOU PIKPOWETPOU €T01 WATE TO «0» GV KAaKa Tou KoupTrod va
oUpTITITEN PE TNV KaTakdpun ypaupr atov Bpayiova Tou duvapdkAeidou (I1).

[MepioTPEWTE TO KOUWTI TOU WIKPOPETPOU BECI6OTPOGA PEXP! VO PUBIOTEN N emBuunTr
pot. H emBupn porrr pubpicetal dTav n kAipoka aTov ETIAOYED MIKPOPETPOU GUTTITITEI
e TV KatakOpuen ypapr atov Bpayiova Tou duvapdkAeidou. (1)

21N ouvéxeld, KAEIDWATE To KoupTT Tou pikpopéTpou (IV) kai puBpioTe Tnv kat@AANAn @opd
TIEPIOTPOPAG TNG KAOTAvIag, TOTE TO KAEIST €ival ETOIMO Yia XpAan.

TomoBerioTe TV Kat@AAnAn uTrodoyr ot povada duvapodkAedou. Katd m didpkeia g
olo@Igng, N emiteugn NG KaBopiouévng POTTAG ONUATODOTEITAI OTTO TO OTIAOINO TNG Ke-
@aAng Tou duvapdkAeidou. Edv aiobaveate To kepdAl va oTidel, oTAPATAOTE VO OQIYYETE.
Mpoaoxr)! Mnv cuveyidete va oiyyete Ta uTrouAdvia agol 1o duvapokAeido uTrodeiGer T
puBuiopévn porrr oTpéwng. AwaTe 1810iTEPN TPOCOKH OE AUTO BTaV OQIYYETE PE UIKPEG
POTIEG.

Mnv opiCeTe TIuEG PoTITG EKTOG TOU £UPOUG PETPNANG TOU SuVaOKAEIdOU.

IMpoooxn! Aev emTpémeTal n Xprion TPOEKTAoEWY GUVANOKAEIBOU Yia TV ETTEKTOON TOU
Bpayxiova aTov omoio epappderar n divapn. Ma TapadeyUa, XPNCIHOTIOIVTAG Evav TTpo-
0Be10 owAAva EMEKTAONG.

AMNOGHKEYZH KAEIAIQY

Edv 10 SuvapokAeido dev Ba xpnaiuotoinBei yia peyaAo xpoviké didatnua, pubuioTe T0
070 €AAYI0TO £UPOG.

Mnv TTEPIOTPEPETE TO KOUWTT TOU UIKPOMETPOU KATW aTrd T XaunAdTepn puBpion potrAg.
To duvapokAeido pmopei va kabapioTei povo Le aTeyvo, pahakd BapBakepd mavi. Mn xpn-
alporoieite dlaAuTeG Ay GAAa uypd. ETreidr uropouv va emAtvouv 1o ypdao Tou Xpnalpo-
TIOIETON Y10 TN AiTTAVGT) TOU PNXAVIGHOU Tou SuvapdkA€Idou aTo EpyoaTaalo.

To duvapokAeido €ival epyoaTaciakd BaBuovounpévo pe akpifeia +3% (CW) / £5% (CCW) .
To duvapodkAeido ouvodeletal ammd epyooTaaiakd maTomomTikd BaBuovounang kAeidiol.
To moTommoInTIKG TTRETEN va QUAGOTETal, OEV eival duvaTh N ékdoan avTiypagou amoAeadé-
V10 TTIgTOTIOINTIKOU BaBUovopunang.

BG
XAPAKTEPUCTUKU HA UHCTPYMEHTA

[IMHaMOMETPUYHUSIT KTKY € MPELM3EH MHCTPYMEHT, M3NON3BaH 3a Nofy4aBaHe Ha onpe-
[JeneH BbpTsL, MOMEHT. M3nonaBa ce 3a 3aBUHTBaHe Ha Pe3boBM KpenexHu enemeHTH,
TaKa Ye BbPTALLMAT MOMEHT Ha Bpb3kaTa [ia € U3BECTEH M [1a CbOTBETCTBA Ha BUAA Ha
MaTepuana 1 3apaBuHaTa Ha BUHTa U raiikata.

CpaBHeHe Ha MOMEHTUTE B Pa3nuyHyu eQuHILM 33 AbITKUHA U cUna:
1kg*cm = 13,887 OZ * IN (yHUMS X MHY)

1 kg *cm = 0,867 LB*IN (Ib x in)

1kG*m = 9,80665 N*m (HtoTOH X MeTbp)

1kg*m=7,233LB*FT (Ibxft)

1FT*LB =12 LB*IN (Ib X nHy)

1dm*N = 14,16 OZ*IN (yHUMS X WHY)

Pasmep Ha Bbpraw MmomeHT [ Nm
Whpekc npaﬁBZpa MM:. [MaK(]:. [ObmkuHa [mm]
YT-07670 6,3 mm; 1/4” 5 25 230 - 240
YT-07672 9,5 mm; 3/8” 10 60 285-295
YT-07673 9,5 mm; 3/8” 10 120 390 - 405
YT-07676 12,7 mm; 1/2° 40 220 485 - 505
YT-07677 12,7 mm; 1/2° 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 - 605
KNIOYOBA OMEPALNA

OTkloyeTe Kon4eTo Ha MUKpomeTbpa (1).

Hactpolite kon4eTo Ha MUKpOMETbpa Taka, 4e «0» Ha ckanaTa Ha Kon4eTo Aa CbBnaja ¢
BepTUKanHaTa NMHIS Ha pamoTo Ha AUHaMOMETpUYHIS Kntou ().

3aBbpTeTe KOMYETO Ha MUKPOMETbPA MO MOCOKA Ha YacoBHUKOBATA CTperka, Aokato
HaCTPOWTE JKENaHsi BbPTSILL MOMEHT. JKenaHusiT BbpTALy MOMEHT € 3afaieH, korato
ckanara Ha MMKpOMETbPHIS Lchepbnat cbenaja ¢ BepTikanHata MHUS Ha pamoTo Ha
AvHamomeTpuaHns kmko. (1)

Cnief; ToBa 3akioyeTe KonyeTo Ha MukpomeTbpa (IV) v 3adaiite noaxoasilara nocoka Ha
BbPTEHE Ha TpecyoTkaTa, Criefi KOeTo raeqHuSIT Koy e roToB 3a ynoTpeba.

[MocTasete noaxoasiiata mMyca BbpXy 3aABIKBAHETO HA AUHAMOMETPUYHMS Kiiod. Mo
Bpeme Ha 3aTsiraHe AOCTUraHeTo Ha 3aJafeHust BbPTALL MOMEHT Ce CUrHanuaupa ypes
CyynBaHe Ha rmasaTa Ha iMHaMOMETPUYHUS KItod. AKO NOYYBCTBaTe, Ye rnasata ce Yymu,
cnpeTe Ja 3aTsrate.

BHMMaHue! He npopbnxasaiiTe Aa 3atarate 6ontoBete, crnep kato AMHAMOMETPUYHUST
Koy Mokaxke 3afjafeHust BbpTsill, MOMeHT. OGbpHeTe Crieumanto BHUMaHe Ha ToBa, KO-
raTo 3aTsirate C Maski BbpTSLM MOMEHTU.

He 3apaBalite CTOAHOCTU Ha BbPTSILLMS MOMEHT M3BbH 06XBaTa Ha U3MEpPBaHE Ha MHa-
MOMETPUYHINS KoY.

BHMMaHwe! He morar fja ce 13nonasat yAbKUTENY Ha AMHAMOMETPUYEH KITKY 38 yabI-
XaBaHe Ha pbKaTa, KbM KOSTO Ce NMpunara cunata. Hanpumep upes uanonssaHe Ha Ao-
MbNHATENHA YABIMKUTENHa Tpbba.

CBHXPAHEHUE HA KNIOYOBE

AKO AMHaMOMETPUYHUSIT KITioY HAMa [ia Ce M3Mon3Ba AbMro Bpeme, HacTpoiTe ro Ha Mu-
HUManHs 1anasoH.

He 3aBbpraiiTe KONYeTo Ha MUKPOMETHPA MOA Hail-HUCKaTa HACTPOAka Ha BbPTALLMS
MOMEHT.

[IMHaMOMETPUYHIAT KoY MOXe Ja Ce MOYNCTBA CaMO CbC CyXa, Meka namyyHa Kbpna.
He n3nonsBalite HMKaKBI Pa3TBOPUTENN UMK APYrA TEYHOCTM. Thbit KaTo Te MoraT fa u3-
MUST CMasKaTa, KOSTO Ce M3NOMn3Bsa 3a CMasBaHe Ha MexaHuama Ha AMHaMOMETPUYHMS
knitod BbB (habpuikata.

[lnHamoMeTpUIHKST Koy e pabpuyHo kanubpupat ¢ TouHocT oT £3% (CW) / £5% (CCW) .
[IMHaMOMETPUYHUAT KIKOY Ce JOCTaBs CbC cepTudukar 3a (abpuyHo kanubpupae Ha
raeqHms knioy. CepTudmkaTsT TpsibBa Aa Ce Nasu, He € Bb3MOXHO M3faBaHe Ha Aybnukat
Ha narybeH cepticmkar 3a kanubpupare.

PT
CARACTERISTICAS DA FERRAMENTA

Uma chave dinamométrica € um instrumento de precis&o usado para obter um torque es-
pecifico. E utilizado para aparafusar fixadores roscados de forma que o torque da conexao
seja conhecido e adequado ao tipo de material e a resisténcia do parafuso e da porca.

Comparagéo de momentos em varias unidades de comprimento e forga:
1kg*cm = 13,887 OZ * IN (onga x polegada)

1kg “cm = 0,867 LB*IN (Ib x pol.)

1kG*m = 9,80665 N*m (Newton x metro)

1kg*m=7233LB*FT (Ib x pés)

1FT*LB = 12 LB*IN (Ib x polegada)

1dm*N = 14,16 OZ*IN (onga x polegada)



PT

indice Tamanho do driver - Torque [Nm] " Comprimento [mm]
Min. Max.
YT-07670 6,3 mm; 1/4” 5 25 230-239
YT-07672 9,5 mm; 3/8" 10 60 282-292
YT-07673 9,5 mm; 3/8" 10 120 389 - 402
YT-07676 12,7 mm; 1/2" 40 220 484 - 506
YT-07677 12,7 mm; 1/2" 60 330 544 - 567
YT-07680 19 mm; 3/4” 100 500 584 - 609
OPERAGAO CHAVE

Destrave o0 botao do micrémetro (1).

Ajuste o botdo do micrémetro de forma que “0” na escala do botéo coincida com a linha vertical no brago da
chave dinamométrica (I1).

Gire 0 botdo do micrémetro no sentido horario até que o torque desejado seja definido. O torque desejado é
definido quando a escala no mostrador do micrémetro coincide com a linha vertical no brago da chave dinamo-
métrica. (lIl)

Em seguida, trave o botdo do micrémetro (IV) e defina a diregéo apropriada de rotagéo da catraca, entdo a chave
estara pronta para uso.

Coloque o soquete apropriado na chave de torque. Durante o aperto, o alcance do torque definido é sinalizado
pela quebra da cabega do torquimetro. Se sentir a cabega quebrando, pare de apertar.

Atengdo! Nao continue apertando os parafusos depois que a chave dinamométrica indicar o torque definido.
Preste atencao especial a isso ao apertar com torques pequenos.

Nao defina valores de torque fora da faixa de medigao da chave dinamométrica.

Atencéo! Nenhuma extenséo de torquimetro pode ser usada para estender o brago ao qual a forga é aplicada.
Por exemplo, utilizando um tubo de extensao adicional.

ARMAZENAMENTO DE CHAVES

Se a chave dinamométrica ndo for usada por um longo periodo, ajuste-a para a faixa minima.

N&o gire 0 botdo do micrdmetro abaixo da configuragéo de torque mais baixa.

A chave dinamométrica s6 pode ser limpa com um pano de algod@o macio e seco. N&o use solventes ou outros
liquidos. Porque eles podem remover a graxa usada para lubrificar o mecanismo da chave dinamométrica na
fabrica.

A chave dinamométrica é calibrada de fabrica com uma precisao de £3% (CW) /5% (CCW) .

A chave dinamométrica vem com um certificado de calibragéo de chave de fabrica. O certificado deve ser guar-
dado, ndo é possivel emitir segunda via de certificado de calibragao perdido.

HR
KARAKTERISTIKE ALATA

Moment klju¢ je precizni instrument koji se koristi za postizanje odredenog momenta. Koristi se za zavrtanje
navojnih spojnica tako da je zakretni moment spoja poznat i primjeren vrsti materijala i évrstoci vijka i matice.

Usporedba momenata u raznim jedinicama duljine i sile:
1kg *cm =13,887 OZ * IN (unca x in¢)

1 kg *cm = 0,867 LB*IN (b x in)

1kG*m = 9,80665 N*m (Newton x metar)
1kg*m=7,233LB*FT (Ib x ft)

1 FT*LB =12 LB*IN (b x in¢)

1dm*N = 14,16 OZ*IN (unca x in¢)

Indeks Veli¢ina vozaca Mi:lakretnl moment [ N"I:/ILKS. Duljina [mm]
YT-07670 6,3 mm; 1/4” 5 25 230 - 240
YT-07672 9,5 mm; 3/8" 10 60 285-295
YT-07673 9,5 mm; 3/8" 10 120 390 - 405
YT-07676 12,7 mm; 1/2" 40 220 485 -505
YT-07677 12,7 mm; 1/2" 60 330 545 - 565
YT-07680 19 mm; 3/4” 100 500 585 — 605

KLJUCNA OPERACIJA

Otkljucajte gumb mikrometra (1).

Postavite mikrometarski gumb tako da se ,0" na skali gumba poklapa s okomitom linijom na poluzi moment
kljuca (I1). .

Okrenite gumb mikrometra u smjeru kazaljke na satu dok ne postavite Zeljeni moment. Zeljeni zakretni moment
postavljen je kada se skala na mikrometarskom broj¢aniku poklapa s okomitom crtom na kraku moment klju¢a.
(1

Zatim zaklju¢ajte mikrometarski gumb (IV) i postavite odgovarajuci smjer rotacije cegrtaljke, tada je klju¢ spreman
za upotrebu.

Postavite odgovarajuéu uti¢nicu na pogon moment klju¢a. Tijekom zatezanja, postizanje pode$enog momenta
signalizira se lomljenjem glave moment klju¢a. Ako osjetite da se glava lomi, prestanite zatezati.

Paznjal Nemojte nastaviti zatezati vijke nakon $to moment klju¢ pokaze postavljeni moment. Obratite posebnu
pozornost na ovo kada zateZete s malim momentima.

Ne postavljajte vrijednosti zakretnog momenta izvan mjernog podrucja moment kljuca.

PaZnjal Nikakvi produzeci moment kljuCa ne smiju se koristiti za produZenje ruke na koju se primjenjuje sila. Na
primijer, koriStenjem dodatne produzne cijevi.

SPREMISTE KLJUCEVA

Ako se momentni klju¢ nece koristiti dulje vrijeme, postavite ga na minimalni raspon.

Ne okrecite gumb mikrometra ispod najnize postavke zakretnog momenta.

Moment klju¢ se smije €istiti samo suhom, mekom pamuénom krpom. Nemojte koristiti nikakva otapala ili druge
tekucine. Jer mogu isprati mast koja se u tvornici koristi za podmazivanje mehanizma moment kljuca.

Moment kljuc je tvornicki kalibriran na toénost od +3% (CW) / £5% (CCW) .

Moment klju¢ dolazi s tvornickim certifikatom o kalibraciji klju¢a. Certifikat se mora Cuvati, nije moguée izdati
duplikat izgubljenog certifikata 0 umjeravanju.
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